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1. Evaluate / e” dz by using the Riemann sum definition and noticing that it's a geometric sum. You may check your answer using the Fundamental Theorem, but to
0

receive credit you must do the Riemann sum
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2. Find the MacLaurin series for f(z) = e * and use it to eva]uate/ e~ dz correct to 4 decimal places.
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3. Find the Taylor series for y = In  centered at &y = 1. What is its interval of convergence?

£ 26 0\")' 2 @

% “I:):l 3 wol ‘ % bnx= Z n! (—') hiq n Cel)
{ 1 =o0!
S ~1 =y T | G _ten™ __n o
3.y 2 »::u_l B | nt @ Quy[ 36,.%-) 1%~ = [x-1|
tohe (-3 L
e et Tl G when <

xr e c'u"w-.l ¢ 1< x-I<l 0%7\%1

o A" . 8 yan-i [ -
N dsk the odpih: b Ozl T e -39—- 53
T dwoge by Ho poded
)

b (el FEEO O s

S Yl lh\wtl of (awvtrgemte is LOO(‘S_IJ

4. Find the Taylor series fory = 3z° — 2 + 9z + 4 centered atzy = 2.
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5. Use series to evaluate the limit, liné
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6. Use series to evaluate the limit, 11m 3
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7. Find the radius of convergence of the series, ;1 Wx & v“, |‘\r"+‘" MB’M‘. -
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8. Find the MacLaurin series fory = v'1 + z4 and use it to approximate / V"'l + zld.r.
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10. Consider the parametric curve r(t) = (t cost,tsint). Compute d—z and Z—ry
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11. Find the area enclosed by the curve 7* = 9 cos(56). ¢
one. '

"
e $5r0A0 Ned b dekemin o od L | P
o o,

T
%o 7/ ,
~ 2k o (o9 do= T | < L o 2] e f

o

Thaew will be Io leaes, 50 Ho bhl wron enced ¢ B2
(e ruslw'm T B R 2 13 o!;wl.) - Hue eoam.)

12. Find the length of the curves.
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13. Find an equation of the curve that satisfies 3y’ = 42>y and whose y-intercept is 7.
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14. Find the solution of the initial value problem.
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15. Find the general solution u = u(t) of the differential equation, — = 2 + 2u + t + tu.
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